),//

//)w:uss the salient features of the Harappan architecture. (Answer in 150 words)

¥

/}//

&

v 4

4
&

Er Wl aremwen & Pl e @ sl fifg ) (smo1s0 w= i §ifm)

10

SFa &l wEma % owpe wes owowham @
(3T 150 =t 4 Hifim)

)§uﬁ|inc the mam aspects of Akbar's religious syncretism. (Answer in 150 words)
o 10

'%ﬁﬁﬁamrﬁ:ﬁrﬁmﬁmmsﬁzmﬁmﬁm&ml'
e fif ) (Im o150 weE @ F1fam)

“The sculptors filled the Chandella_artform with resilient vigor and breadih of
life." Eluciditte. (Answer mn 150 words) 10

Tyl owmp oww g e wd dm oA 3 e @ AR wwfe
T R e & wm wi #fr 1 (s 150 W=l # F@bm)

How are climate change and the Sea leve| rise affecting the very existence of
many island nations 7 Discuss with examples. (Answer in 150 wordy) I0

&3P grafrs afyfafer &0 8 2 & aEfabm we @ sivifae frmens a
far ware wafm 2 7 svger smrewii & oy 5 FI | (I 150 w3 i Fifan)

What are non-farm primary activities ? Ilow are these activities  related to
physiographic features in India 7 Discuss with suitable examples.
(Answer in 150 words) 10

Wmn%mmﬁﬁmiwrm%ﬁwo&zmm?mﬁ
@ w {owmen ffm ) (IIWO150 e i@ &ifam)
Explain bricfly the ecological and economic benefits of solar_cmergy generation

m India with suitable examples. (Answer in 150 words) 10

mmxﬁ?%&ﬁehmmivmw&mmi?mﬂﬁa
AR | (I 150w o# difsm)

What are Tsunamis? How and where are they formed ? What are their
consequences 7 Explain with examples. (Answer in 150 words) 10

SLPM-G-GSA 2



: WRA R A, el vl ok fraoms g & oqE @ 4 e
/ B 7 (3R 150 W= i Sifm) ( R ) S

docs smart city in Indis, address the issucs of urban poverty and
10

How
distributive jUSliC_C‘ ? (Answer in 150 words)

[/// mtlﬁfﬂiwmﬁmmmmﬁmsﬁznﬁrﬁﬁwfﬁﬁﬁmm
s ® - B0 | (I 150w A7 Afm)

/{ ethos of civil service in India ‘stand for the combination of

protcssior.mlism with nationalistic consciousness — Elucidate.
(Answer in 150 words) 10

a— TN AR T ¢ fF Yo @ osftom e smwm IminR W 6
B? d Im d gfe i) (S 150 w=mi # Afm)

@{’ you think that globalization results in only an aggressive consumer culture ?
ustify your answer. (Answer in 150 words) 10

A AETeAl AHE 9 % ®We §UR §EEl R |@a 3 o F anm i oufim
qgl & wweEmst @ gen 2 wuf difawy (w250 w= # difm)

ahatma Jotirao Phule’s wnlings and efforts of soctal reforms touched issucs
of almost all subaliem classes. Discuss. (Answer in 250 words) 15

pL e awdA, w4 egawqt, finn @R seRigE wanl & faug @ sl F anies
- FTd 3 WA & grarew & whEar @ @rfda i g (I 250 w=E 6 difam)

/écc India's consolidation process during carly phase of independence in terms
of polity, cconomy, cducation and international relations. {(Answer in 250 words)
15

/:i e i@ ¥ fau g @ 6 fra s &1 e o
(IR 250 w=1 H BIfaAu)

The French Revolution has enduring relevance to the contemporary world,
15

Explain. (Answer in 250 words)

)}/‘./Y fra & Auadm 39 IR ¥ fraxn @ dvifas wedeaw dfae | 3 weadi
¥ ¥ ¥ frm wew fim £ 7 (W 250 =i A dibm)

Give a geographical explanation of the distribution of off-shore oil reserves
of the world. How are they different from the on-shore occurrences of oil
15

reserves ? (Answer in 250 words)

3
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;/4_// wrfra st arfre u‘rm'awﬁ i, s s, mefa % gfam
e (nsd) s S om owrh @ @ M AN fr wm owEm 2o

(B 250 @=i 3§ difin)

lﬁlmv can Araficnl Intelligence (Al) and drones be cffectively uscd along with

GIS and RS techniques in locanonal and areal pianning ?

(Answer m 250 words)

// irquﬁﬁrfrgfer.;rr.ixwzrfm:«‘ﬂtwwnnfmizfmﬁiﬁamr.éﬁtwm(m)
g,mmmiﬂé?é?ﬁmnﬁﬁﬁ:ﬁ&m.vﬁ?h&ﬁzﬁﬁil
(3% 250 w=1 3 #ifaw) -

Discuss how the changes in shape and sizes of continents and ocean basins
of the pf‘:znci lake place duc to tectonic movements of the crustal masses,
(Answer in 250 words) 15

y/ T, Bl st et & Rl ¥ an wm S R s fawo
A7 = oy s fifim ) (s 250 i R )

Discuss the distribution and density of population in the Ganga River Basin

with special reference to land, soil and water resources. (Answer in 250 words)
15

K/Wgﬁmimﬁrqnmﬁ?fzﬁmﬁaaé%m.m'gxaﬁmmz%
€ grE & Gmd f 0 Wl wpm @ a9 w9 s Rew e

#afim | (3w 250 =i # dfim)

How do you account for the growing fast food industries given that there arc
ncreased health concerns in modern society ? Nustrate your answer with the

Indian experience. (Answer in 250 words) 15
l{./ ggiarn @ W oW 3 g wad fawm whe @ en, owa Mo ¥ owe
A wEEE & Wi e d # o e ¢ - frowh @i

(3 250 =1 |/ Fifm)
Jchieving sustainable growth with emphasis on environmental protection could

come mnto conflict with poor people’s needs in a country like India — Comment.
(Answer in 250 words) 15

7% 1 Wd i wwardia fdam 1 oyfal, fremm ik grate & - SR R
ymt frar =w difsm | (Fw 250 = ®OGfm)
ent

oes tpbal development in India centre around two axes, those of di
and of rchabilitation ? Give your opinion. (Answer in 250 words) 15

15
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